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Lesson-by-Lesson Review

S@ Interactive Study Guide
=L~ See pages 119-122 for:

= Vocabulary Check
gl + Key Concept Check
» Problem Solving

- Reflect

Express each ratio as a fraction in simplest form,

1. 10 girls out of 24 students

2. 61ed cars to 4 blue cars

3. 10vards to 8 inches

4. 18 ounces to 3 cups

5. Jean got 12 hits out of 16 times at bat. Express this
rate as a fraction in simplest form. Explain its
meaning.

_Example 1 '

e e e ]

Express the ratio 2 feet to 78 inches as a fraction i
in simplest form.

First, convert feet to inches.
_2ft _ 24in,
18in.  18in.
Next, divide the numerator and denominator by
the GCF, 6.
24in. + 6
18in. + 6

_ 4in.
BET

Wi

b

']_.'e_s_son 5-2 Unit Rates cpp.is'g-wa)

Express each rate as a unit rate. Round to the hearest
tenth or to the nearest cent, if necessary.

6. $25.97 for 8 boxes
7. 400 meters in 5 minutes
8. $175 for 4 concert tickets
9. 125 miles in 200 minutes
10, Financial Literacy An eight pack of juice boxes

costs $4.79, and a twelve pack of juice boxes costs
36.59. Which is a better buy? Explain.

_Example

Express 274 miles in 14 gallons of gasoline as a unit rate, ‘
Round to the nearest tenth of a mile if necessary. !

Write the rate that compares the miles to the number of i
gallons. Then divide to find the unit rate. ;!

P14
T Ty l|
274 miles _ 19.6 miles |
14 gallons 1 gallen |
[
|
|

.-

IRy

S0, the car traveled 19.6 miles on 1 gallon of gasoline,

Lesson 5-3 Complex Fractions and Unit Rates (op. 194-199)

Simplify.

|w|m

12,

(5, ]
—_
=

13. Noreen can walk 1‘110- miles in% hour, Find her average
speed in miles per hour.

14. Write 66 %% as a fraction in simplest form,

15. Write 6—;—% as a fraction in simplest form.

16. Write 1 1-;'—% as a fraction in simplest form.

B Exa Wlpfe 3
2
Simplify %

|
i
5. Write the complex fraction ,|

4 a3 a division problem, |
_5.4 Muttply by the reciprocai |
BERSE] : '

nf = which i i
i i
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f Lesson 5-4 Converting Rates (pp.200-205)

Complete each conversion. Round to the nearest
' hundredth, if necessary.

17, 7in.= 2 cm 18. 20 m =~ #yd
19. 25floz = & mL 20. 41 = gal
21. 18pt=E&L 22. 12oz= ity
23, 26cm = H® in. 24, 3qt=@1L

25 4m~= Eft 26. 68 g~ E oz

27. EXT A Aplaneis flying at a speed of 425
miles per hour. How far will the plane travel in

0.75 hour?

28. A swimming pool is being drained at a rate of 50
gallons per hour. How many miliiliters per second
is this? Round to the nearest tenth,

29. Arunner runs 2 miles in 9.56 minutes. How many
meters per second is this?

30. Afamily drives their car 135 miles in 3 hours. How
many kitometers per hour is this?

Example 4

Complete the conversion. Reund to the nearest
hundredth.
18 centimeters to inches

Use 1 inch == 2.54 centimeters.
Tin.

254 ¢cm
1in.

254 amf

.. 18in. :
~ 4 or7.0%in.

18¢m= 18¢m -

= 18 et

Exa WIP{!.’, 5

A peregrine falcon can fly at a top speed of 200 miles
per hour. How many feet per second is this?

First, convert miles to feet and hours to seconds.

200mi _ 200mi  5280ft _ih
Th Th ~Tmi = 3600s

Next, divide out the common factors.

1 176
_200mf 5280ft 1k

TR T T 3600°s
= 2833t 1
is _
The falcon can fly about 293 feet per second.

{ Lesson 5-5 Proportional and Nonproportional Relationships (pp. 206-210)

Determine whether the cost is proportional to the
number of books purchased. If the relationship is
proportional, find the constant of proportionality.
Explain your reasoning.

31".quks 12 3 4'

- Cost{$) 8 16 uon

32. Books 2 4 6 8
CCostf) 2 s 7 10

33. A customer at the ring toss booth gets 8 rings for
52. Find the constant of proportionality. Write an
equation relating the cost to the number of rings.

At this same rate, how much would a customer pay
for 11 rings? for 20 rings?

34. Mrs.Tebon buys 25 party favors for $5. At this same
rate, how much would she pay for 40 party favors?
for 60 party favors?

244 chapter5 Ratio, Proportion, and Similar Figures

i
3
i
‘] ;
3
i

Determine whether the distance is proportional to ;
the time. if the relationship is proportional, find the
constant of proportionality. Explain your reasoning,

Example 6

Distance{n*a_g_tg;;) __30 56 69 80
Tame[minut_es] 1 23 4

Write the rate of distance to time for each minute in
simplest form.

30 56_28  69_2  80_20
1 2 1 3 1 4 1

Since the rates are not equal, the distance is not

proportional to the time, and there is no constant of

propartionality,

Page 2
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Progiortionality and Linear Relatinnshi'p_s__

' Sson 5-6 Graphing Proportional Relationships (pp.212-217)

35. Determine whether the relationship is proportiona

by graphing on the coordinate plane, Explain your
reasoning.

[ Tme(min) T4 [ 7 [ 3 | w
| Distance {ft) P 8+ W |16 M —j

[ i :

36. The cost of dance lessons is $12 for 1 lesson, 522 for

2lessons, and $32 for 3 lessons. Determine whether
the cost is proportional to the number of lessons by
graphing the ordered pairs on the coordinate plane.
Explain your reasoning, '

- The number of squitrels is proportional to the
number of trees. A graph of the relationship
includes the points (0, 0), (3, 9), and (5, 15}

a. Find and interpret the constant of proportionality.

b. Explain what the points (0, 0}, (3, 9), and (5,15)
represent.

S—

i Exawlp(e 7

The number of slices of pizza purchased is proportional!
to the number of students eating. The graph below !
shows the relationship {students, slices). Determine ;’
the constant of proportionality. Explain what it means.

16 12 l i

Slices of Pizza
[n+]

12345678
Number of Students

Use the point (4, 8).
slices of pizza
number of students
The constant of proportionality is the unit rate, 2 slices |

per student. It describes the number of slices of pizza
purchased for every 1 student eating.

_8_2 5
=3 ior2

; Lesson 5-7 Solving Proportions (pp.218-223)

3 ‘ is 0.5 inch = 10 feet. Find the actual length of
£ [ each gallery.
|
|
I

| L Gallery ‘ Brawing Length |
43, | Modem Art | 6in.

| 44, | Remaissance | 425in,

|45 fgypt T 7%

| 46. The length of a highway is 200 miles. If 0.5 inch on a
map represents 50 miles, what is the length of the
highway on the map?

|
Solve each proportion. _€xa ‘_“f_(_& 8 e
B_5 m_18 4_9
} i 38. a3 39, 6 1 So]veg_.f_ .
40. %g- = sz' 41, 1—6_!5— = %—5- -;— = }9- Write the proportor. 5
|
k- | 42. Financial Literacy Ahomeowner whose house  4<X=9.9 Lross pradicis
fs assessed for $120,000 pays $1800 in taxes. At the 4x = 81 Muttply. ;
same rate, what is the tax on a house assessed at w8 o _ =
_'-:'- : $135,000? vy = vy Dwvide wach sicee by 4
.I .I x=20.25 Sirnplidy .
[ Lesson 5-8 Scale Drawing and Models (pp. 224~229) j
On the scale drawing of a museum, the scale _Example ¢

' |
A scale model of a car has a bumper that is 3.5 inches |
long. The scale on the model is 1 inch = 2 feet. What is i
the length of the actual car bumper? ’

nodeitength - o»  1in. — 3.5in.  C-omodedlongh
actual fength...» 2ft xft  «-.. actual length
Tex=2.35
x=7

" The actual length of the car bumper is 7 feet.
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Lesson 5-9 Similar Figures (pp.232-237)

" Thefigures are similar. Determine each missing measure.  €xample 10

47, w If ALMN ~ APQR, what is the value of x?

M
48» E 5 F 4?"1
§ T 4.8 yd
7am 35m/TN
RN/ { N
H xem G v R 1a4yd

49, A mosaic is created using rectangular blocks,

L
Block A has a length of 5 centimeters and a width % = %
of 2.5 centimeters. Block 8 is similar to block A and 48 _ 14.4
has a length of 7 centimeters. What is the width of x T ag
block B? x=16

50. Keshawn enlarges a rectangular photograph to
make a poster that is similar to the photograph.
The photograph is 4 inches wide and 6 inches long.
The poster is 51 inches long. What is the width
of the poster?

ﬁesson 5-10 Indirect Measurement (pp.238-242)

51. At7 feet 8 inches, the world’ tallest woman castsa ~ €xa mP(a 11
46-inch shadow. At the same time, the world's .
shortest woman casts a 15.5-inch shadow. How tall ~ 11e Washington Monument casts a 185-foot shadow
is the world's shortest woman? at the same time as a nearby flagpole casts a 3-foot

shadow. if the flagpole is 9 feet tall, how tall is the
52, The largest known pyramid is the Pyramid of Khufu. Washington Monument?

At a certain time of day, a vertical yard stick casts a . .

shadow 1.5 feet long, and the pyramid casts a shadow  "1ite and solve a proportion.

241 feet long. How tall is the pyramid? D A L. o

monument height - xft 185 ft =< - monument’s shadow

'53. Mylie’s house is 9 meters tall and casts a shadow

1.5 meters long. At the same time of day, a nearby 9.185=x.3
doghouse casts a shadow that is 0.2 meter long, 1665 = 3x
How tall is the dog house?
1665 _ 3x
54, In the figure below, AABE == AACD. What is the 37 3
distance across the pond? 555 =x

The Washington Monument is 555 feet tall.

246 Chapter5 Ratio, Proportion, and Similar Figures Page 4
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CHAPTER 6 REVIEW

1. 12is what percent of 60?

2. What is 63% of 130?

3. 281s 80% of what number?

4. 8 hours is what percent of 24 hours?
5. What distance is 72% of 120 miles?
6. 36 pounds is 15% of what weight? |

7. Thirty percent of the CDs that Monique owns are
classical. If Monique owns 120 CDs, how many are
classical?

8. At Marie's school, 65% of the students are learming a
second language. There are 143 students learning a
second language. How many students are in Marie’s
school?

9. In a dance class, 70% of the students wear black
ballet shoes. There are 30 students that wear black
shoes, How many students are in the class?

E-Book p. 288-290

Find the percent of each number mentally.
10. 50% of 36 11. 40% of 55
12. 33-;-96of27 13. 1%0f167 '

Estimate, 14-18. See margin.

14, 24%of 40 15. 62% of 90

16. % of 298 17. 130% of 250

18. Tito had 244 free throw attempts in his high school

career. If he was successful 77% of the time, about
how many free throws did he make?

19. There are 38 students in Mr. Raymond's science
class. If 76% of them get an A on the final exam,
about how many students got As?

Solve each problem using a percent equation.
20. 17 is what percent of 68?7

21. Whatis 163% of 247

22, 55 is 20% of what number?

23. 48 is what percent of 327

24. 24 is what percent of 487

25. 49is what percent of 140?

26. What is 75% of 2007

27. What is 30% of 90? |

28. The items in a souvenir shop are on sale for the
prices shown. What percent of the original price is

the sale price for each item?
hat _ §14.00 $10.50
' beach towel $12.50 $14.00
tote bag $9.00 $6.30

29. A jersey is on sale for 509% off the original price,
A week later, the manager takes another 50% off.
Is the jersey now free? Explain.
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CHAPTER 6 REVIEW

Find the percent of change. Round to the nearest
tenth, if necessary. Then state whether the percent of
change is an increase or a decrease.

30. From55ibto241b
31. From §55.75t0 $75.00

Find the percent error.

32. actual distance: 3.2 m, estimated distance: 3.4 m
33. estimated time: 50 min, actual time: 90 min

34. The number of pints of mint chocolate chip sold last

week was 88. If this week 110 pints are sold, what is
the percent of increase?

35. A project estimated to take 30 days was completed
in 75 days. What was the percent error of the
estimate?

Find the selling price for each item given the cost and
the percent of markup or discount.

36. tennis shoes: $85; 24% discount

37. portable MP3 player: $150; 36% markup
38. pants: $75; 85% discoun

39. amplifier: $100; 135% markup

40. A surfboard has an original price of $259. Itis on
sale for 55% off the original price. Find the sale
price of the surfboard.

41. A jacket with an original price of $49.95 is
discounted 33%. Sales tax of 7% is added to the
discounted price. How much does it cost to
purchase the jacket?

42. Alaptop case has an original price of $45. Ellen has
a coupon for 35% off the original price. Find how
much Ellen paid for the laptop case.

43, Nathan bought a bicycle for $230 at an auction. He
fixed it up and sold it at a 30% markup. How much
did Nathan sell the bike for?

44, Nan bought an $85 dress on sale at 25% off the
original price, She paid 5% sales tax on the sale.
What was her total bill?

Find the simple interest to the nearest cent.
45. 5575 at 6.25% for 7 years
46. 512,750 at 5% for 10 years

E-Book p. 288-290

Find the total amount in each account to the nearest
cent if the interest is compounded annually.

47. $2750 at 8% for 3 years
48. $1500 at 12.5% for 2 years
49. Lucas borrowed $10,500 to buy a boat. He will pay

$276.50 each month for the next 48 months. Find
the simple interest rate for his loan.

50. What is the total amount of money in an account
where $4000 is invested at an interest rate of 3.5%
compounded annually after 3 years? =~
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